THSEE WEFPREGFEIRNDOME (FR)

O 3FE 4A168 EMBEREIEGER

(B FH)
2HE S BIRTFHEE | METHEEE| A |HEERH| HE(%)
- B =3 45,703,000 142,000 45,845,000| 45,943,000 A 02
SEOHEFE(B1R (F EFFOFECHFICHT A FETHBFLEETXIE # Al & & 21,784,511 21,784,511| 21,725,117 0.3
MEHESEZSE 6,784 6,784 6,721 0.9
HABAE IOXBICESTSREISOVTIHRERLTLET, BRALEB LY 22— 78,780 78,780 76,811 2.6
ERERBERRRK 9,193,328 9,193,328| 9,427,391 A25
—REHOWEFELEEL1ES, 200 FHDEEELLY  MIERDTEREEIL. NE ARG EE 11,064 11,064 11,078 A 01
3 2 & 10,340 10,340 9,620 75
45884, 500FMELBYET, f+ # OB & | 10714526 10,714,526| 10,394,636 3.1
BHERAEER 1,422,979 1,422,979| 1,450,620 A9
TP A EEEE 346,710 346,710 348,240 A 04
FH(—REREH4FRIRED) 67,487,511 142,000\ 67,629,511 67,668,117 A 01
MEXSE 33,754 33,754 33,178 1.7
TKEEERE 7,995,964 7,995,964 7,736,410 34
KEEERE 6,839,922 6,839,922 6,707,040 20
TERKEBEERE 52,721 52,721 46,735 12.8
& H 82,409,872 142,000 82,551,872| 82,191,480 0.4




THM3EE —

22: n-l-*ﬁIE%%(

1R) FHABAHEE

(& A (Bfr FM) (@& H] (Bfr FM)
# E @ o B R A R
ES THEIERTDEE | fHIEZE it = WIEATDEE | MHIEEE 5 H iE v Y p—
— 1R
ERFHE A& D th

05 T pic) 12,440,000 12,440,000 10 = s % 388,131 388,131 0
10 it Vil E 5 b 411,700 411,700

5 F F B =z & £ 13,000 13,000 15 & # & 3,628,560 3,628,560 0
16 B2 & B T & £ 60,000 60,000

17 Hi_t%wﬁ:li)’ p= ﬁ] IS 55000 55000 0B £ % 17,723,117 142,000\ 17,865,117 141,996 4 0
19t A H B B x 4 £ 2,350,000 2,350,000

20 TN 7B A ABLTHS 7,000 7,000 30 5 @ % 273,701 273,701 0

29 IR IE M B B X M 2 50,000 50,000 s KRR © 069,42 05942 .

5 B2k 969,427 ,969,427
31 EHREEEEHREREHERS S 7,930 7,930 =

33 1’&’. 7.3_ H’ ‘p}—“ § ‘H' ﬁ 169,000 169,000 40 ﬁ T E 1’721’941 ],721,941 0
35 i Vil z i #® 12,100,000 12,100,000

W XETEREREINXAHE 11,000 11,000 4 + K = 4,365,346 4,365,346 0
45 N B £ B U 8 & 406,449 406,449

=z - R 50 H B B | 1880963 1,880,963 0
50 F B H R U F # # 460,069 460,069

55 E *x fas] & 7,237,716 141,996 7,379,712 5 % B B 3,827,554 3,827,554 0
60 2 * H & 3,773,847 3,773,847

0 % B £ 250,884 250884 65 & EH # 5,899,327 5,899,327 0
75 #2 A % 1,938,767 1,938,767

80 #& i & 1 1 0 F X LH 2 431,842 431,842 0
85 & I A 502,494 4 502,498

%0 ™ & 3.289.900 3.289.900 80 ¥ ® £ 50,000 50,000 0

s A & i 45,703,000 142,000| 45,845,000 m &+ & & | 45703000 142,000| 45,845,000 141,996 0 4 0




THSFE —REFAHEFTE (E1R)HEERAR

(B FH)
w LTEENBXE KEEIHEXE N . BERY| . ) }
A& MHt& REE KEE | BBEE - - NMRE | Bias EoN HEitE | Bde &t
BN Biyh BN Biyh

HIERTFHER 7,345416| 5,301,314 270,999| 10,757,732| 8939,160| 1,666,699| 1,537,760 83,700 4500 5899,327| 314,273| 19,037| 166,383 3,396,700| 45,703,000

WL (%) 16.1 16 0.6 235 196 36 34 0.2 00 12.9 0.7 00 0.4 74 100.0

0WE = & 0

15#% % % 0

WE 4 % 4,355 2,645 135,000 142,000

R BT 0
=1

0% B B 0

B |35 BMKEXE 0

ol I B 0
Al

45 £+ K E 0

M50 #EH B & 0

_|%& B # 0

i 60 K EEBE 0

- 65 & & 0

ME X H £ 0

80 F w = 0

FHIERE 4,355 2,645 0| 135000 0 0 0 0 0 0 0 0 0 o] 142,000

WE®RTHEZ 7,349,771| 5,303,959 270,999| 10,892,732 8939,160| 1,666,699| 1,537,760 83,700 4500 5899,327| 314,273|  19,037| 166,383 3,396,700| 45,845,000

WL (%) 16.0 116 0.6 23.7 195 36 34 0.2 00 12.9 0.7 00 0.4 74 100.0




THISEE MEFR(B1IRNEZTXOHME

(Hh FF)
B R AR
! = EFHELE . .
# B % ES " & % BETRE o [ —moin
[ —fgsit ]
O R4E%®
FETHBLALE FECHBEEXBRUOH LR/ATL #MEIOFHR (s 142,000) 142000 °
Flfaft SR HRE (T30 77 CUHAC R % 7 B CHLRFAEIE SRR 1 003G G G IR B LA 4470575 1)
(VR 6T 2 A4 % %G1 800 A, (EERBUIFARALO 1 THEUF XH5VEHI00N)
—BLHBETE E1XR & & 142,000 142,000 0




